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Co1 K1 1. | In general, the index of the first element in an array is .
a)0 b)-1 c) 2 d)1
Cco1 K2 2. | What is the time complexity to count the number of elements in the linked
list?
a) O(1) b) O(n) c) O(log n) d) O(n2?)
CO2 K1 3. | A queue follows .
a) FIFO (First In First Out) principle b) LIFO (Last In First Out) principle
c) Ordered array d) Linear tree
CO2 K2 4, If the elements “ A” , “ B” ,“ C” and“ D” are placed in a stack and are deleted
one at a time, what is the order of removal?
a) ABCD b) DCBA c) DCAB d) ABDC
CO3 K1 S. | The number of edges from the node to the deepest leaf is called of
the tree.
a) Height b) Depth c) Length d) Width
CO3 K2 6. | Which of the following is false about a binary search tree?
a) The left child is always lesser than its parent
b) The right child is always greater than its parent
c) The left and right sub-trees should also be binary search trees
d) In-order sequence gives decreasing order of elements
CO4 K1 7. | The BreadthFirst Search traversal of a graph will result into?
a) Linked List b) Tree c) Graph with back edges d) Array
CO4 K2 8. Which of the following is not an application of Depth First Search?
a) For generating topological sort of a graph
b) For generating Strongly Connected Components of a directed graph
c) Detecting cycles in the graph
d) Peer to Peer Networks
CO5 K1 9. Which of the following sorting algorithms is the fastest?
a) Merge sort b) Shell sort c) Insertion sort d) Quick sort
CO5 K2 10. | If several elements are competing for the same bucket in the hash table, what

is it called?
a) Diffusion b) Replication c) Collision d) Duplication
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CO1 K3 11a. | Collect the steps to insert an element at the beginning in singly linked list.
(OR)

Co1 K3 11b. | Use Linked List to perform Polynomial addition.

CO2 K3 12a. | Evaluate the following expression Using stack.

Postfix expression: 2536 +** 15/ 2 -

(OR)

CO2 K3 12b. | Prepare the steps to delete an item from Queue.

CO3 K4 13a. | Focus on Operations of Heap data structure.
(OR)

CO3 K4 13b. | Analyze the functions of Binary Search Tree.

CO4 K4 14a. | lllustrate the any five Terminologies of graph.
(OR)

CO4 K4 14b. | Diagram the Euler circuit with explanation.

CO5 KS 15a. | Predict the steps to implement bubble sort.
(OR)

CO5 K5 | 15b. | Importance of Hashing in data structure.
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Cco1 K3 16a. | Organize the operations performed in Double Linked List.
(OR)

CO1 K3 16b. | Collect the applications of List.

CO2 K4 17a. | Compare stack and Queue Data structure with Example.
(OR)

CO2 K4 17b. | Devise the procedure to convert an infix expression to postfix notations with

the following example: A*BAC+D

CO3 K4 18a. | Classify Tree traversal and explain it with suitable example.
(OR)

CO3 K4 18b. | Conclude the application of trees in data structure.

CO4 K5 19a. | Predict the distinguish between BFS and DFS.
(OR)

CO4 K5 19b. | Analyze the memory representation of Graph.

CO5 KS 20a. | justify binary search is more efficient than linear search.
(OR)

CO5 K5 | 20b. | Evaluate the following example using Selection sort.
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